NAME: Date: Grade:

(From Grade Calculation on last page)

Lesson 11
= PracticeDrill 1 &

SoTranslate John 1:1-2 into correct English (19 answers):

XKParse (31 answers):

1-1

‘Ev apyn (7answers): - Loc( )-F- - apyn, M -
nv (7 answers): Imperf ( )-Ind-3- -l -

0 Moyog (7 answers): - Nom ( ) - - -Mdyog, 0 -

Kal: coordinate conjunction joining two independent clauses - and

0 Mdyog (7 answers): -Nom ( )-M - - AdYOoC, O -
nv (7 answers): Imperf ( )-Ind-3- - el -
npog tov Oeov (7 answers): -Acc( )-M-S-0gdg, 0 -

kal: coordinate conjunction joining two independent clauses - and
0e0c (7 answers): - Nom ( ) - -S-0gd¢, 0 -

nv (7 answers): Imperf ( )-Ind-3-S-eiui-

0 Aoyog (7 answers): - Nom ( ) - - S-\ovy0g, 0 -

********************GRADE CALCULATI ON********************

Nunber of Errors : Total Pts. 100. 00
M ssed accents and breat hi ng mar ks
= 1/4 error per word M nus Pts.
Ti nmes 2.00 M ssed
Total Pts. M ssed . G ade

(Please record grade at top of page 1)



